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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)
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There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.
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PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination hall/room without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / Hkkx ,d

(Answer all the questions) / YalHkh iz’uksa

ds mUkj nsa's

izR;sd iz’u ds mUkjksa ds dbZ
fodYi uhps fn, x, gSaA ,d Icls
mi;qDr fodYi pqusa vkSj mis
fuEufyf[kr funsZ’kksa ds vuqlkj
iz’u i= ds IkFk_ miyC/k djk, X,
AAvks,evkj** mUKj i=d esa ntZ
djsaA

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein. (1x10)

1, fSea Freges Jorrelt & T g 9T
8

A) A, TAE/ASYE, STUAT

B) wuey, Ty, AT

C) AT, 3AE/ASe e, Hg

D) e Afhad, wuery, T
The three main components of a digital
computer system are:

A) Memory, Input/Output, DMA

B) ALU, CPU, Memory

C) Memory, Input/Output, CPU

D) Control Circuits, ALU, Registers

1.2 = & 3 %9 a1 aiadqsfie g2

A) FaT A

B) RAM

C) ROM

D) THfeF e
Which one of the following is volatile?

A) Bubble Memory

B) RAM

C) ROM

D) Magnetic Disc

1.3 o ¥ F9 =f arsadr 9eqm 4 gy faamsiT 22

A) 101010

B) 100101100

C) 1110001

D) 100011
Which one of the following binary number
s is divisible by 47?

A) 101010

B) 100101100

C) 1110001

D) 100011
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1.4
A)
B)
C)
D)

A)
B)
C)
D)

1.5
A)
B)
C)
D)

1.8
A)
B)
C)
D)

T fae T §UTd FA 6l AW FATH 2
Cache ®

e #

WH

Tfes foef @

The cost of storing a bit is minimum in:
Cache

Register

RAM

Magnetic Disc

Tie At e % RfreEe & 717 grdt 2
Forfered &

e afa = &

T |

=H

The resolution of a dot matrix printer is
measured in:

Megabits

Dots per inch

Hertz

Inches

forge e 91 2

SrorefeT oTTeft

AR

STHITHHT 719

T eLT IR=TeAT Tt

Linux open source is an
Operating System

Office Tool

Programming Standard
Proprietary Operating System

_3rs ff aar |12 F SR AT F 97 g4t g
URL
DNS
DNS
TCP
maps IP address with domain name
of sites.
URL
DNS
DNS
TCP

DBMS 9153 T 374 2-

TaT 99 ferde ey

T TR AAsTie AiteaaT
T2 99 FeorHe AT
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The term DBMS stands for-

A) Digital Bar Management Software

B) Data Base Management System

C) Domain Based Management Software

D) Data Base Management Software

1.9 ISR AT TIRT R ST ATt 39 et 8

A) s‘aﬁz TFTAL

B) TeERT '

C) A) 3T B) 2T

D) ST § & A AL
The most commonly used web browser is:

A) Internet Explorer

B) Netscape

C) Both A) and B)

D) None of the above

110 uwxfsad_ fea g .

A) 2

B) 4

C) 8

D) 16
A Nibble consists of Bits.

A) 2

B) 4

C) 8

D) 16

2- uhps fn, X, izR;sd fooj.k ;k rks
IR; ;k VIR; gSA ,d Icls mi;gDr
fodYi pqusa vkSj mls
fuEufyf[kr funsZ’kksa ds vuqlkj
iz’u i= ds IkFk miyC/k djk, x,
AAvks,evkj*™* mUKj i=d esa ntZ
djsaA (1x10)

21 U aree eaed ¥ GET AT R,
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22
23
24

2.5

26
27
2.8
29
2.10

21
2.2
23
24

2.5

26
2.7

2.8
29
2.10

feree Terew it 1 27U 2.

AETSATT AT 31 ¢ A feesdhar a7 T3

o #71 Retteger Sraar 3g gnm, e sadt
AR

e UF FHE AT e Uew wH o oatueieT
TOTTEAT 2.

T ATEE HURT T Had el ThTS 2.

A . 473 FT AT A=Y 100111011 2.
Cache HHTY &g AT | SATET T4 €.
ALU ff CPU =T 9T €.

MS Word T JurTeft S 2.

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer
sheet supplied with the question paper,
following instructions therein. (1x10)

A byte is bigger than nibble.
The row of relational database is tuple.
OCR stands for Optical Care Reader.

The higher the resolution of screen, better is
picture quality.

A Linux is a command line user interface
operating system.

A byte is smallest unit of storage.

The binary equivalent of octal no. 473 is
100111011.

Cache memory is faster than main memory.
ALU is part of CPU.
MS Word is a system software.
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dkWye X esa fn, x, ‘kCnksa vkSj okD;ksa dk feyku dkWye Y esa fn, Xx,
fudVre lacaf/lkr vVFkZ @ ‘kCnksa @ okD;ksa Is djsaA muesa fn, x,
vugns’kksa dk ikyu djrs gq, vius fodYi iz’u i= ds IkFk fn, x, **vks,evkj**
mUkj i=d esa ntZ djsaA"41x10"%

X Y
31 |39 8 % AT UF FaL AT A. | sTeA=IfET
3.2 | mreft weft T TUAT &AWAT FT TR F {2 FIAT gredae I At T8 B. |S@aam™
TqFeaa< it 9.
3.3 | HEATeHE AT U F AET Sae AT o, C. | &tz
3.4 |uF & ufdes Areawt & gfafaat, eafagt, Aifeay, T oy 1 Suanr w06 D. | srwear
JATT FRAT T U T
3.5 |9 FIE F AqATE TH AL ALl IS § FAT €. E. | wwwWWW
3.6 |zHFT IR A= AT S -7, $-HWH, S-awH, e, g F. | gedifear
Feafar sfa  forr e strar 2.
3.7 | FFHET U SITET AT #lE Afdfih ST, G. | sirqefesT yorrett
3.8 |faraw # T@ T TEATAS T AT ATAT § TUAR. H. | affee
3.9  |7g qeas IS #1 UF T5E & L | e e
3.10 | U IS FT aF HAL X FE FIA il THHAT. J. | =r
K. HTTP
L. =
M. | sroerrfEar

4- uhps fn, X, izR;sd okD; esa uhps nh xbZ Iwph Is ,d ‘kCn ;k okD; dks [kkyh
LFkku esa yxk,aA Icls mi;qDr fodYi pqusa vkSj mls fuEufyf[kr vugns’kksa
ds vuqglkj iz’u i= ds IkFk fn, x, **vks,evkj** mUkj i=d esa viuk fodYi ntZ
djsaA Ya1x10%

A. e B. e C. EERE
D. | Zer g™ E. | Seramfaw F. | s/aesae
G. 1000 H. ‘«-QWT;;%WW . LAN

J. e K. 1024 L. ugree
M. RAM

4.1 1% Az FaEt e,

4.2 _ TUFTAYE — ATISYE T STHI 2.

43 g Fee Sl SrET O i "ieared SUE & o us ai=Tas o 2.

44  _ TEIEARGHARE

45 U HEHAMAE

4.6 TR ST % ST 9T AT TFAAT HT Q@A A 6 ord STIRT 6 S a7 ST % 98 L greda ol
FET ST &

47  _ ZIEAEad % QAT ST /UTT i STl 3T 8.

4.8 AT F ATHT T IIE TAA, T HAAT AT GH TATE FAT 8, Tl JATAT B,

4.9 FHEAT oAvarst & TefiT Svast § qarg & SHTH & gl ST 2.

410  FFEI AT AEATET & o HHTT T AT 2.

3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,
following instructions therein. (1x10)

| X Y |
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3.1 | A number system with base 8. A. Downloading
3.2 |Layer of software embedded on bare hardware to enhance the B. Domain Name
computing capability of bare machine.
3.3 | Text based strings corresponding to numeric IP address. C. Compiler
3.4 | A single work assembled using elements from more than one D. Octal
medium like images, sounds, videos, text etc.
3.5 |Translates source code into equivalent machine code. E. WwWw
3.6 |ltis used for various purposes like e-mail, e-commerce, e- F. Multimedia
governance, education, social networking etc.
3.7 | Any extra device added to the computer. G. Operating System
3.8 |Large scale collection of documents located worldwide. H. Peripheral
3.9 |ltis atype of network topology. . Internet
3.10 | The process of storing a page on web server. J. Star
K. HTTP
L. Decimal
M. Uploading
4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)
A. Ariel B. Printer C. Animation
D. Data Warehouse E. Data mining F. Assembler
G. 1000 H. Hard Disk Drive I LAN
J. Cables K. 1024 L. Android
M. RAM
4.1 1 KB equals bytes.
4.2 is both an Input-Output device.
4.3 is an operating system for mobile devices based on the Linux kernel and Java.
4.4 is a primary memory.
4.5 is the name of a font.
4.6 A big store house of data used for predicting futuristic trends based on the data stored is known as
4.7 allows sharing and communication of small networks.
4.8 Rapid display of sequence of images to create illusion of movement is known as
4.9 Program to translate assembly language to machine language is known as
4.10 is a medium of communication for networking of computers.
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Hkkx nks / pArRT TWO
YsfdUgha pkj iz’uksa dk mUKj
nsa1/z/(Answer any FOUR questions)

5.

a) (1471 T AT "1 § whiafda #2

b) FFLET T A1 STSUTH & ST IHAT ST HY.

c) ST feT TOTTelt 3 T T T SATEAT Fe.

a) Convert (147)4o to binary number.

b) Give block diagram of a computer and explain
it.

c) Explain basic functions of a operating system.

(5+5+5)

6.

a) MS-Word & Macros it saTeaT <.

b) 3Ig Ta< FT dveer 9w fFe wae fr dveer fir
SETEIIN & AT SATEAT &Y.,

c) fBreem AtveaTT @i ufeasa ATeaae 9¥ |@ferg
foroquft for.

a) Explain macros in MS Word.

b) Explain high level language and low level
language with examples.

c) Write short note on system software and
application software.

(5+5+5)

7.

a) fFfss ST #§ fewde Wl & GfEw
TR ¥ e e R,

b) fforer ISeem aiaw wiEe & Sen TrEe ¥ S
F forgr gréueforam swme it wfrar aard.

c) =TT w1 e § e gfaas & e
ST &

a) Explain in detail the diverse application of
Internet technology in various domains.

b) Give the process of creation of hyperlinks to
link to a different slide in different presentation
power point.

c) Explain how slide transition is used in ppt.

(5+5+5)

8. e = feooft fore:

a) AT T afTaheoT,

b) e s,

c) FATEAL AT TETAST % 1o ¥ Ty,

Write notes on:

a) Classification of memory.

b) CPU components.

c) Differentiate between Compiler and Interpreter.

(5+5+5)

9.

a) UF TH He 974, A1 ¥ A10 I | Fa¢ 9%,
I A % SIE F forr A11 H 3% S{E #°7 of|a
e & o A12 8§ e o,
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ZeTAe F HIAW  gAAT & a0 F [ AT
TEAA T SATEAT FY.
Rsiregee, terse YRer siv fORr Y= oasat &t
SATEAT F3.
Create an excel sheet, fill in the numbers A1 to
A10 cell, write formula to sum the above
numbers in A11 and to average the sum in
A12.
Explain security aspects associated with
transfer of information via internet.
Explain the terms resolution, aspect ratio and
refresh rate.

(5+5+5)
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